EB-2022-0011:1: Debbie Dey

COST CLAIM NUMBER SUBMISSION DEADLINE DATE CLAIM STATUS

719 October 06, 2022 Approved by Finance

EB# OTHER EB#S PHASE #*

EB-2022-0011: Initiatives: Regulatory Direction

and Oversight: Ontario Energy Board

INTERVENOR COMPANY*

Dey, Debbie; +1 (416) 864-9700 x.216

ddey@foglers.com

Building Owners and Managers
Association, Toronto: Cooperative
Full Registrant

HST RATE ONTARIO EXCHANGE RATE COUNTRY

13.00

INTERVENOR

HST NUMBER LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE

R119420859

PARTICIPANTS

New Non-Filing Participant First, Last Name Filing Participant

No , Engel, Albert; +1 (416) 864-7602 aengel@foglers.com

Participant
Total (\$) Claim Status

1,087.96 Submitted

No , Jarvis, Ian; +1 (416) 915-1530 x.203 2,983.20 Submitted

ijarvis@enerlife.com

ATTACHMENTS

Attachment Document Claim Import

Attachment Date Participant Type Type Message

BOMA EB-2022-0011 Cost Claim 100520221035.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL DISBURSEMENTS TOTAL HST

3,602.80 0.00 468.36

TOTAL CLAIM TOTAL AMOUNT AWARDED

4,071.16

REASON FOR REASON FOR REASON FOR DISALLOWANCE - 2 DISALLOWANCE - 3

MAKE CHEQUE PAYABLE TO

Fogler, Rubinoff LLP (Attn: Accounting Dept)

SEND PAYMENT TO ADDRESS ATTENTION

77 King Street West Suite 3000 Toronto, ON M5K 1G8

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY

Debbie Dev

DATE SUBMITTED
October 05, 2022

Albert Engel

CASE **COST CLAIM**

EB-2022-0011 : 1 : Debbie Dey

INTERVENOR NAME

Dey, Debbie; +1 (416) 864-9700

x.216 ddey@foglers.com

Submitted

CLAIM STATUS

PARTICIPANT

FILING PARTICIPANT

EB-2022-0011: Initiatives:

Regulatory Direction and

NEW

NON-FILING

NON-FILING

Engel, Albert; +1 (416) 864-7602

Oversight: Ontario Energy Board

aengel@foglers.com

PARTICIPANT

PARTICIPANT F. NAME

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE

Legal Counsel 2002

YEAR CALLED TO BAR

No

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE** **HOURLY RATE** 290

HST RATE

19

CV STATUS (FOR

CONSULTANT/ANALYST) CV Provided within Previous 24

Months

No

HEARINGS

LAST CV DATE April 07, 2022

CHARGED 13.00

CONSULTATIONS

Yes

DISBURSEMENTS

No

CONSULTATION Description	<u>Maximum</u> <u>Ho</u> <u>Hours</u>	<u>urs</u>	Hourly Rate	<u>Sub</u> <u>Total</u>	HST Rate	<u>HST</u>	<u>Total</u>
Consultation							
Commenting on the issues, potential changes and questions identified in the	8.00	3.32	290	962.	80 13.00	125.16	1,087.96
Framework Consultation Total							
Total Legal/Consultant Fees				962.	80	125.16	1,087.96

Attachments

Attachment Document Type Import Message

Albert Engel Dockets.pdf Time Docket Hearings, Consultations, Disbursements Attachments

Attachment
Albert Engel
Dockets.pdf

Related Disbursement Claim

Document

Type Claim Type
Time Docke Consultations

Import Message

Prebill # 1206534 Session: 709989 Bill to: 27/Sep/22

Client: F1588 Fraser & Company

Fraser & Company

Matter: 221741

BOMA - EB-2022-0011: OEB Framework for Review of Intervenor Processes and Cost Awards CLIENT LAWYER: Engel, Albert M.

MATTER_LAWYER: Engel, Albert M.

LAWYER ON BILL: Engel, Albert M.

LAST BILL DATE: NONE

FOGLER, RUBINOFF LLP

PAYOR NAME & ADDRESS
Ontario Energy Board
2300 Yonge Street, 27th Floor
Toronto, ON

M4P 1E4 Canada

Attn: Nancy Marconi

Page 1

<u>PAYOR:</u> O5619 MT05 <u>BILL:</u> O5619 MT05

ACCOUNT APPROVAL

Albert Engel

[] FINAL BILL: MATTER WILL BE MADE INACTIVE

UNBILLED TIME

LAST ENTRY	TIMEKEEPER	<u>HOURS</u>	<u>AMOUNT</u>		FEE CREDIT ALLOCATION [] AS DOCKETED	CODE	<u>INIT</u>
28/Apr/22	Albert Engel	3.32	962.80		[] AS DOCKETED	433	AME
	TOTAL UNBILLED FEES	3.32	962.80	[] WRITE OFF			
	PREMIUM (WRITE DOWN)						
	TOTAL FEES THIS BILL						

TRUST SUMMARY - A Trust was not opened on this Matter

Page 2

FOGLER, RUBINOFF BILLING STATEMENT TO 27/Sep/22

Payor/Matter: O5619/221741

Ontario Energy Board

BOMA - EB-2022-0011: OEB Framework for Review of Intervenor Processes and

Cost Awards

Prebill No.: 1206534 Session ID: 709989

LAST BILL DATE: NONE

LAST BILLED TO DATE: NONE

FILE LAWYER: Engel, Albert M. ASSIGNED LAWYER: Engel, Albert

M.

BILL ADDRESS Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

CANADA

PAYOR DEFAULT ADDRESS 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Marconi, Nancy

DETAIL OF UNBILLED TIME

<u>DATE</u>	TIME ID	TIMEKE	<u>EPER</u>	HOURS	<u>RATE</u>	AMOUNT	DESCRIPTION
05/Apr/22	4106166	433	AME	1.12	290.00	324.80	Revised intervention request letter
28/Apr/22	4110702	433	AME	2.20	290.00	638.00	Reviewed and revised submissions; Video conference with lan Jarvis
			TOTAL TIME	3.32		962.80	

Ian Jarvis

CASE **COST CLAIM**

EB-2022-0011 : 1 : Debbie Dey

Dey, Debbie; +1 (416) 864-9700

x.216 ddey@foglers.com

INTERVENOR NAME

Submitted

CLAIM STATUS

PARTICIPANT

FILING PARTICIPANT

EB-2022-0011: Initiatives: Regulatory Direction and

Oversight: Ontario Energy Board

Jarvis, lan; +1 (416) 915-1530 x.203

NEW **NON-FILING PARTICIPANT**

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

ijarvis@enerlife.com

SERVICE PROVIDER TYPE

YEAR CALLED TO BAR

No

COMPLETED YEARS PRACTICING/YEARS OF **HOURLY RATE** 330

HST RATE

CHARGED

13.00

RELEVANT EXPERIENCE

30

CV STATUS (FOR

Jarvis Invoice.pdf

Jarvis Invoice.pdf

CONSULTANT/ANALYST) CV Provided within Previous 24

Months

HEARINGS No

Consultant

LAST CV DATE

September 23, 2022

CONSULTATIONS DISBURSEMENTS

Yes No

<u>Description</u>	<u> </u>	imum Ho Hours	urs	Hourly Rate	<u>Sub</u> Total	HST Rate	<u>HST</u>	<u>Total</u>
Consultation								
Commenting on the issues, potential changes and questions identified in the Framework		8.00	8.00	330	2,640.00	13.00	343.20	2,983.20
Consultation Total								
Total Legal/Consultant Fees					2.640.00		343.20	2,983.20
Attachments								
Attachment Do	cument Type	<u>Import</u>	Messag	<u>le</u>				

Time Docket

Invoice

Hearings, Consultations, Disbursements Attachments

Attachment
Jarvis Invoice.pdf
Jarvis Invoice.pdf

Related Disbursement Claim

Document

Type Claim Type
Time Docker Consultations

Invoice Consultations

Consultations

Import Message



To: Ontario Energy Board 2300 Yonge Street Suite 2701

Toronto, Ontario M4P 1E4

Re: EB-2022-0011-Framework for the Review of Intervenor Processes and Cost Awards

Date: Tuesday October 4, 2022

90 Eglinton Ave. East, Suite 412 Toronto, ON M4P 2Y3 Canada Tel: 416.915.1530 Fax: 416.915.1534

				Invoice:	3612
		A	10		
Date	Harris	Analyst/Consulta	•	Rate	Tatal
	Hours	ase Mgmt	Description		Total
Saturday, April 2, 2022	0.25	lan Jarvis	Review correspondance	\$330	\$82.50
Tuesday, April 19, 2022	0.50	lan Jarvis	Review correspondance	\$330	\$165.00
Wednesday, April 27, 2022	4.00	lan Jarvis	Review file and draft response	\$330	\$1,320.00
Thursday, April 28, 2022	4.00	lan Jarvis	Review BOMA response for submission	\$330	\$1,320.00
Friday, April 29, 2022	1.00	lan Jarvis	Review submissions	\$330	\$330.00
Saturday, April 30, 2022	0.50	lan Jarvis	Review submissions	\$330	\$165.00
				<u> </u>	
				8 hours (Note: 8 hours	\$2,640.00
				: 8 hours (Note: 8 hours m eligible hours to claim)	\$2,640.00
					\$2,640.00 \$343.20

Payment due upon receipt of invoice.
Please make cheque payable to Enerlife Consulting Inc.

Ian A. Jarvis President



To: Ontario Energy Board 2300 Yonge Street Suite 2701

Toronto, Ontario M4P 1E4

Re: EB-2022-0011-Framework for the Review of Intervenor Processes and Cost Awards

Date: Tuesday October 4, 2022

90 Eglinton Ave. East, Suite 412 Toronto, ON M4P 2Y3 Canada Tel: 416.915.1530 Fax: 416.915.1534

				Invoice:	3612
		A	10		
Date	Harris	Analyst/Consulta	•	Rate	Tatal
	Hours	ase Mgmt	Description		Total
Saturday, April 2, 2022	0.25	lan Jarvis	Review correspondance	\$330	\$82.50
Tuesday, April 19, 2022	0.50	lan Jarvis	Review correspondance	\$330	\$165.00
Wednesday, April 27, 2022	4.00	lan Jarvis	Review file and draft response	\$330	\$1,320.00
Thursday, April 28, 2022	4.00	lan Jarvis	Review BOMA response for submission	\$330	\$1,320.00
Friday, April 29, 2022	1.00	lan Jarvis	Review submissions	\$330	\$330.00
Saturday, April 30, 2022	0.50	lan Jarvis	Review submissions	\$330	\$165.00
				<u> </u>	
				8 hours (Note: 8 hours	\$2,640.00
				: 8 hours (Note: 8 hours m eligible hours to claim)	\$2,640.00
					\$2,640.00 \$343.20

Payment due upon receipt of invoice.
Please make cheque payable to Enerlife Consulting Inc.

Ian A. Jarvis President